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(a) (547)lim

x—0 x

(b) (643) lim V2?2 —2z+ux
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2. (a) (899) By’ +v2x + 2 +y =0 BRI KLY 7H(0,0) HIfE.
Solution.
3y +2ue + P+ 14y =0 oy =1
6y'2+3y2y”+2y’2x+2yy’+2xyy”+2yy’+y” =0 6+y” =0, y// -6

(b) (74) EXR4EFEERESL ARZEREI AREBCRE, ﬁf@fu% m/sec &
BEEREREE . BEREEIEMELI6 ARE, FHSEREIRBEUS K

AR
Solution.
y—4=09tan6
do
r_ el
Yy = 9sec 7
L_g(3) . @
3 °\3/) dt
¢ = — rad/sec
X x=4cot#,
da 5 ,d0 5\ 1 25 1 1
g——4CSC 9&—-4(1) '%——ZX%——EID/SGC.

3. (159)) 3\ f(z) = ooy CHEI. FERTEREMEME. Q. R MiE. M. Kk
B WA

Solution. #FFEHE, #EE. v = 0 BKPTEAER.

9 — 22
/
= - = = :t .
f'0) = Zargs =00 =3
local min. is f(—3) = —%, local max. is f(3) = ¢.
2z (2% — 27)
1"
= "> = = :l: .
@) = 2 = 0.0 = 0,23V3

4. (10%) Bk L [ Lo du.
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5. (a) (5%) &% lim 3 sin <_) T
n—oo Py 2n 2n



Solution. By definition of integral,

" fin\ 7 R k3
Zsm <%) o sinzdr = [—cosz|g =1 asn — oo.
i=1 0
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Solution. £ 1 — 2?2 7 [0,1] Z Riemann sum, # IR S %

(a) (443) AFEEO <2 < W, sinz <.
(b) (75}),]0(56) = ta%’ FHHE < 21 <22 < % e, f(xl) < f(IQ)

Solution. f’(x)

#EE: rsec?x > tanx, Bl £ > sinzcosz =
g(z) = x — $sin 2z, g(0) =0, ¢/(z) =1 — cos 2z > 0.

6.
rsec’x —tanz
x? '
Lgin22.

%
7. KTIIES
(a) (643)[ ;C:Jrld;v.

{EB COST
8. (154) AKRNEPEMERNFAEE=AFEE.



